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lem® = 1mL ©]B2 E9] 9F2 5652 mL YUYt}




16. o]  HEof e 2FY
392500 cm® @1 917]5o0]ab T gt o]
2 cm 1A oA L.

1=}

1o
N,
of
10 lo
Ky
L
N

[\

=)
2
M
4z
o _EL
N

= cm

>
> HE ' 25cm

B \
LA whx|go] ZolS [ |2t 5Ha

392500 = |x[ ]x3.14 %200

[ ]x[ ]= 392500 + 628

[ Ix[ ]=625

[ 1= 25(cm)




o

@ flolA 2 2

®o. e

® 0,6

ORON®)

® 0,6,

@ 0,0,

ﬁ B 8°
" X 51
I ©
Moo o
< o
WP
ot o°
X T
~ B 50
~ vl H

iy
A 2 oyt
N o o
"I R F o B
o|J W_.a nH AT
B o T dn &
® B s o )
,ﬂ%ylg
o Kby rnoen N
N lor ~xH K
TP R K
T o_ﬁ FH bl Hr ol my

A 1= B

o) 9 oy © ) P M
o T o o) 7 % 23
~ JJ = Em g g T
@ W EF s o

© © 00




18.

9E 3048 e ge FHoR

TE AEHE 242,

wod T gk,

152 1535 Azgtehd | |37 21 |3 sy
> E
> E
> 3E: 2
> ®E: 2

o8 A5E 274 FolEL FA0|BR 15702 X|&S
il

1311574, 231134, 33 1114, --- Yt

A 30%F0] oen= 2Z 7] B 30 - (15 + 13) = 2 Fo]
A

g4




19.

AR Jhe} Wt Qe Zhe) Al 18 4%S B B 2
Lol A7belA 12 4 EE Bl Folo] 2k gk FAHE 7L
vel g7he] HE A1 et A4 Hl ekl 2.

> =

> MEH: 43:57

S5 ~
7hel A7t 12 4EF H 2 4 1 1+0.14=1.14

o] Akl 19 43 A1 30 1 1-0.14 = 0.86
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7} U=0.86:1.14 = 86 : 114 = 43 : 57
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8Xx8x3.14 X2+ 16 x 3.14 x| _| = 1406.72
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—~




23.

AR 3502 o]0l LU
B g7Ho] IS AL AT

 glo A £ mepe gyt




24. 722 4% AR 4EH 43744 RGPS ot 4
BOFS HEGST BE Ho| ofdf 17} Zo] Bt
BIRE H40 B A ASHAEI

> ®E 247

g mAjuith He 7| UT 2714 Fo g yTh
wtatA, 24 A7F AR E o},




25. t= 27T o] £o] FY 975 FulE A L.

| 2
> #==F: 4239 cm?

i}

(HH2E 97159 F)

= 7X7x3.14x 30 = 4615.8( cm?)
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=2x2x3.14 x 30 = 376.8(cm?)
(Fol 9 97159 #x)
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